
	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

CMSC351, University of Maryland (2024 Spring)

>

consider the following two games played
between A and B.

A and B are on a 16 grid of
squares· They can move 1 or 2 squares
to the right. They can pick the stars
on the square they land on.

am/IB->
I

Game 2↳((I
* In game I , anyone can pick any

star.

* In game 2 , A can pick red stars and

B can pick blue stars.

Game 1 is a min-max game.
the

nearestic graph is dependent on both

players actions.

Game I has independent henvestics for

both the players (p .

t. o).
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The hearestic tree is depending on

each other's moves.



	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

Game I
E[07 A's

LAi ↳ esticA ,2

[O] 21]
BaLB I & ↳B,
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Heuvestia tree
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the heavstic tree is a concatenation
of two independentGenvestics for two
players-


